Law of Conservation of Mass
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On mixing 2 aqueous solutions you observe from the products that a neutralization reaction has
occurred. The equation and the results below illustrate this chemical reaction.

A(aq) + B(aq) — C(ag) + D)
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What is the mass of B that reacted? q(i q.

1) When 191 g of copper is combined with 756 g of a nitric acid solution HNOs the

chemical reaction produces 563 g of copper‘;utrate Cu(NO3)2, 108 g of water and a
certain amount of nitrogen dioxide. (T )

Write the balanced chemical equation first:
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What mass of nitrogen dioxide does this reaction produce? |
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2) A reaction involving 168 g of sodium hydrogen carbonate (BS) and 120 g of vinegar Z ’
' produces 88 g of carbon dioxide, 36 g of water and a certain amount of salt.

Wirite the balanced chemical equation first:
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How much salt is produce?
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3) The reaction caused by the burning of lighter fluid or butane CsHo in air produces
energy and carbon dioxide and water.

Write the balanced chemical equation indicating which side the energy is on:
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During a lab, you react 29 g of butane. You observe that 88 g of carbon dioxide and
45 g of water vapour form. '

What mass of oxygen from the air reacted with the butane?
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Fill in the blank with the correct number of grams.

Write the balanced chemical equations for the following including proper subscripts.

1) 40 g of calcium reacts with 71 g of chlorine to produce [ [ ’ g

of calcium chloride CaClz. _
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2) }8 g of potassium reacts with 16 g of oxygen to produce 94 g of
potassium oxide Kz0O.

K(s) + O g ) — Ka0(s)
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3)

4)

5)

6)

7)

‘-;2, g of hydrogen reacts with 32 g of oxygen to produce 34 g of
hydrogen peroxide.
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65.5 g of copper reacts with [0 g of oxygen to produce 81 g of

copper (1) oxide CuO.

CuCs) + O4g) = lud(s)
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24.3 g of magnesium reacts with 38 g of fluorine to produce é’ "? 5
of magnesium fluoride MgF,.
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14 g of lithium reacts with \35) g of sulfur to produce 46 g of
lithium sulfide Li,S.
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ﬂ) (RO g of iron reacts with 71 g of chlorine to produce 391 g of

iron (2 (2) chloride FeCl,.
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Classify the following as atoms or molecules, element'x or compound§, homogeneous or
heterogeneous mixtures:
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